Potencias de 10 (C)

Calcule los siguientes productos y cocientes.

60+ 1000

2 x 1000

68 = 1000

8 x 1000

31 x 1000

69 + 1000

80 x 1000

10 +1000

361000

27 x 1000

14 x 1000

261000

141000

30 x 1000

45 x 1000

511000

87 x 1000

84 = 1000

93 =-1000

10 x 1000
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Potencias de 10 (C) Respuestas

Calcule los siguientes productos y cocientes.

60 - 1000
0.06

2 x 1000
2,000

68 = 1000

0.068
8 x 1000

8,000
31 x 1000
31,000
69 - 1000
0.069
80 x 1000
80,000
101000
0.01
36+ 1000
0.036
27 x 1000
27,000

14 x 1000
14,000
26 =+ 1000
0.026
14 = 1000
0.014
30 x 1000
30,000
45 x 1000
45,000
51+ 1000
0.051
87 x 1000
87,000
84+ 1000
0.084
93 = 1000
0.093
10 x 1000
10,000
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